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Give meaning of Public Examination and make a list of public exam. Explain any one of them {15]

3, 8,13, 18,23, 28, 33

(A) 3944

(C) 3843

91211141316 15

Ay 1413

(C)y 1417

Which word does NOT belong with the others?
{(A) Branch

{Cy Leaf

ELFA, GLHA, ILJA, _ MLNA
(A)  OLPA

({C) LLMA

.in details.

OR
Wriie a short note on importance of Aptitude. [08}
Differentiate hetween reasoning ability and General Knowledge. [07]
Each question is compulsory & carry one mark. [15]

{B) ' 3844
(D) 3742
(B) 1821
D)y 1817
{By Dirt
{D) Root
(B) KLMA
{D} KLLA

In a certain code, MENTION is written as LNEITNO. How is PATTERN written in that code?

(A  ATAETNR

(C) OTAESNR
CONDUCTOR : ORCHESTRA
(A) Jockey : mount

{C) Driver : tractor
JAUNDICE.; LIVER

(A) Rash : 5kin

{C} Smog:lung

Which number is suitable for L+B-P?

(A 2
© 5

(B) OTAETNR
(D) - STAETNR

(B) Thrasher: hay
(D) Skipper.: crew

(B) Dialysis : Kidney
(D) Valentine : heart

(| -2

o -5

In a certain code, SIKKIM is written as THLJJL, how is TRAINING written in that code?

(A  SQBHOHOF
(C)  UQBHOHOI

(8) UQBHOIOF
(D) UQBHOHOF

LP-To)




Q-3

(10)

(12)

(13)

(14)

(15)

(18)

{17)

From this information answer the question 10to 12 ;

Six girls are sitting in a circle facing to the centre of the circle. Theyare P,QR, S, Tand V. T
is not between Q and S but some other one. P is next to the left of V. R is 41 to the right of P.

Which of the following statement is not true?

(A) S is just next to the right to R. {By T isjust nextto the right of V.
(C) Rissecondiotheleftof T (D} P is second to the right of R.
If P and R interchange their positions then which of the following pair will sit together?
(A) RT ‘ (B) PV

{Cy VT Oy Qv

What is the position of T? ’

(A)  Justnext to the right of Q (B} Secondto the left of P

(C)  Between Q and R (D) To the immediate right of V
John crashed his truck because

{A) Hewas driving (B) He was driving too fast

{C) He was driving sincerely (D) He was foolish

For question no, 14 and 15
(A) If the statement is fact ('B) if the statement is advice

{C)  Ifthe statement is opinion (D) if the statement is prejudice

Dog fur is pretty

Ay A ®) B
© c ' ® D
The beatles were a band 7

A A : (B) B
€ cC ' {Dj-

Each question is compulsory & carry one mark.
For Question no 16 to 20:

The following table gives the sales of batteries manufactured by a company over the years.

Number of Different Types of Batteries sold by a Company over the years
{(Numbers in Thousand)

Year Types of Batteries

: 4AH 7AH 32AH 35AH 55AH Total
1992 . |- 75 144 114 102 108 543
1993 90 | 126 - 102 B4 126 528
1994 96 114 75 105 135 525
1995 - 105 90 150 90 75 510
1996 90 75 135 75 90 465
1997 105 60 165 45 120 495
1998 115 85 160 100 145 605

‘What was the approximate nercentage increase in the sales of 55AH batteries in |998
' compared to that in 19927

(A)  28% B) 31%

(C) 33% (D) 34%

The total sales of all the seven years is the maximum for which battery?
(A) 4AH (B) 7AH

(Cy 32AH (D) - 35AH

C3y

(18]



(18)

{19)

(20)

(21)

" '.(522)

(23)

What is the difference in the number of 35AH hatteries sold in 1993 and 19977

(A) 24000 (B) 28000
(C) 35000 (D) 39000

The percentage of 4AH batteries sold to the total number of batteries sold was maximum in
the year?

(A 1994 - (B) 1995

© 199 E ) 1997

In case of which battery there was a continuous decrease in sales from 1992 to 19977?
(A)  4AH ' (B) 7AH

(C)  32AH ' ' {0y 35AH

Instriction for Question no. 21 to 25
Study the following graph carefully and answer the questions given below:

Distribution of candidates who were enrolled for MBA entrance exam and the candidates (out
of those enrolled) who passed the exam in different institute :

o Fhyiiingd o A5ED

What percentage of candidates passed the Exah'l from institute T out of the total number of
candidates enrolled from the same institute?

{A) 50% (B 62.5%

{Cy 75% - (D} 80%

WhECh institute has the hlghESl percentage of candidates passed to the canmdates enraifed?
A) Q B R

(Cy Vv . Oy T

“The number of candidates passed from institutes S and P together exceeds the number of

candidates enrolled from institutes T and R together by:
(A} 228 B) 279
(C)y 399 (D) 407

(j3:) ‘ [:Fl(rqjé)




(24}

(25)

(26)

(27)

(28)

(29)

{A) 373 - (B) 379

‘What is the percentage of candidates passed to the candidates enrolled for institutes G and
R together?

(A} 68% (BY 80%

(C) 74% (D) 65%

What is the ratio of candidates passed to the candidates enrolled from institute P?
Ay 911 ‘ (B) 14:17

(C) 6:11 Oy -9:17

Instructions for Question No, 26 to 30 :

In a school the periodical examination are held every second month. In a session during Aprif
2001 - March 2002, a student of Class 1X appeared for each of the periodical exams. The
aggregate marks obtained by him in each perodical exam are represented in the line-graph
given hefow.
Warks Obtained by student in $ix Periodical Held in Bvery Two Months During the Year
‘in the Session 2001 - 2002,
Maxiimum Taotal Marks in cach Periodical Exaim = 500

400

&

330 [ ; g 0 Y
Apr-01  Jun-01 Aug-01 . Oct-01 Dec-01 Feb-02

Erereveoiioat Dnoriny

in which periodical exams did the student obtain the highest percentage increase in marks

over the previous periodical exams ?

{A) June, &1 _ {(B) August, 01

{C) Oct, 01 {D) Dec, 01

The total number of marks obtained in Feb. 02 is what percent of the total marks obtained in
April 01 ? v - ~

(A) 110% ‘ By " 112.5%

{C) 115% ' (D) 116.5%

What is the percentage of marks obtained by the student in the periodical exams of August,
01 and Oct, 01 taken together ?

(W) 73.25% o ® 755%
©) 7% , (D) 78.75%

What are the average marks obtained by the student in all the periodical exams during the
last session?

(€y. 381 ' (D) 385

CoS



Q-4

(30)

31

@2

(33)

(34)

{35)

(36)

{38)

(39)

In which periodical exams there is a fail in percentage of marks as compared to the previous
periodical exams ?

(A None (B) June, 01
{Cy  Oct, 01 (D) Feb, 02
Each question is compulsory & carry one mark. [15]

Instruction for Question No. 31 to 35 :
Read paragraph carefully and answer the following question

At this stage of civilisation, when many nations are brought in to close and vital contact for
good and evil, it is essential, as never before, that their gross ignorance of one another
should be diminished, that they should begin to understand a little of one another's historical
experience and resulting mentality. it is the fault of the English to expect the people of other
countries to react as they do, to political and international situations. Qur genuine goodwill
and good intentions are often brought to nothing, because we expect other people to be like -
us. This would be corrected if we knew the history, not necessarily in detail but in broad
outlines, of the social and political conditions which have given to each nation its present
character. . : :

According to the author of ‘Mentality' of a nation is mainly product of its

(A) = History (B) international position
(€} Politics . (D) present character
-The neéd for a greater understanding between nations

(A)"  was always there (B) is nolonger there
(C) is more today than ever before (D)  will always be there

The character of a nation is the result of its
{A) Mentality (B) cultural heritage
(C)  grossignorance (D} . socio-political conditions

According to the author his countrymen should

(A} read the story of other nations (B) have a better understanding of cther
nations
{C) not react to other actions (D) have vital contacts with other nations

Englishmen like others to react to political situations like
{A) Us ' {B) themselves
(C) others (D) eachothers

.Instructions for Question No. 36 to 40:

Choose the synonyms / similar word which best expresses the meaning of the given word.
NEUTRAL _
(A) Unbiased (B) Non-aligned

(C)  Undecided (D) Indifferent
SHALLOW

(A)  Artificial (BY - Superficial
(C)  Foolish (D) Worthless’
DIVERSION 7

(A) Amusement _ {B) Distortion
(C) . Deviation (D) Bylane
INSOLVENT

A) Poor {(B) Bankrupt
©) Penniless ‘ {D) Broke

C (emed




(40}

(41)
“2)
(43)
(44)

(45)

INEXPLICABLE
(A) Confusing
(C)  Chaotic

(B)
(D)

Unaccountable

Unconnected

Instruction for Question No. 41 to 45 choose the word which is the exact antonyms / opposite

‘of the given words:

ABLE

(A) Disable

{C}  Unable
HOSTILITY

{A) Courtesy
(C) Relationship

CROWDED

{A) Busy

{Cy Quiet
COMIC

{A) Emaotional
(C) Fearful
-HAPLESS

(A)  Cheerful

(C} Fortunate

(B)
©)

(B)
D)

(B)

Inable
Misable

Hospitality

" Friendfiness

Congested
Deserted

Tragic

Painful

Consistent

Shapely




